- Transportation Options from Seoul Station to
Hanwha Resort Pyeongchang

Option v-A-- 1: KTX (High-Speed Train) + Taxi

« Route: Seoul Station = Pyeongchang KTX Station — Taxi —

Hanwha Resort

« Travel Time: Approximately 1 hour 45 minutes to 2 hours
(KTX 1.5 hours + Taxi 15-20 minutes)

e Cost:

o KTX: #17,000 - #27,000 (depending on seat class)
o Taxi: %20,000 - ¥25,000

- Total Cost: %37,000 - #52,000

Option > 2: Bus (Express or Direct) + Taxi [Not

Recommended]

« Route: Seoul Express Bus Terminal = Pyeongchang Bus
Station — Taxi — Hanwha Resort

« Travel Time: Approximately 2 hours 30 minutes to 3 hours
(Bus around 2 hours + Taxi 15-20 minutes)

e Cost:

o Bus: #12,000 - #20,000 (depending on bus type)

o Taxi: #20,000 - #25,000



o Total Cost: #32,000 - #45,000

Option < 2 ">. 3: Direct Taxi

« Route: Directly from Seoul Station to Hanwha Resort by Taxi

« Travel Time: Approximately 2 hours 30 minutes to 3 hours

«Cost: # 180,000 -#% 250,000 (depending on different
levels of taxis and traffic conditions)



% Transportation Options from Hanwha Resort
Pyeongchang to Incheon International Airport
Terminal 1

Method < 2 ">- 1: Direct Taxi

« Route: Hanwha Resort — Incheon International Airport
Terminal 1
« Travel Time: 2 hours 30 minutes to 3 hours
« Cost: %#210,000 - #360,000 (approximately USD 150 to 260)
. Advantages: Direct, convenient, no transfers
. Disadvantages: Higher cost, affected by traffic
Method - v-A- 2: Taxi + KTX (High-Speed Train)
1. Taxi from Hanwha Resort to Pyeongchang KTX Station
o Travel Time: 15 to 20 minutes
o Cost: #20,000 - #25,000 (approximately USD 20)
2. KTX from Pyeongchang Station to Seoul Station

o Travel Time: 1 hour 30 minutes to 1 hour 45 minutes



o Cost: %17,000 - 27,000

3. AREX (Airport Railroad Express) from Seoul Station to
Incheon Airport
o Travel Time: 43 minutes (Express) or 60 minutes
(Regular)
o Cost: #4,150 - ¥9,000

« Total Travel Time: 2 hours 30 minutes to 3 hours



« Total Cost: 41,150 - #61,000

« Advantages: Lower cost, more stable schedule

. Disadvantages: Requires two transfers



